AFR 1 (AFHERER, MEVEERENTER, BRIZNERERR U RERMERR)

HFERDIELE
Fnl &
H#HIERT R 4 g HRET B A
ZHE £ 1R85 BHIR
mxn | smmm | o ooon | owaEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
of igi4f T v RAK 18 0.95 1.1 - 0.55
2 Z| 0.04 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 0.41 1.0 — 0.23
2 & 0.04 0.9 — 0.01
3E| 0.03 0.9 — 0.01




HFBHIDIESE

K=
HERF RS Hoigk REET B fArthizg
EHR 51 R —
L =y A
K5 3IZ A AWERS 1 xmme | memEw | mERM iy
% % % %
18 ElERAX 1&l 1.31 4.9 - 3.04
2% 5.02 3.3 - 2. 31
3% 3.51 2.6 - 1.56
FHEzRAX 27| 2.59 2.0 - 1.24
3% 1.57 1.5 - 0.73
4 E| 1.06 1.4 - 0.35




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ZHE £ 1RXE BMEREET
axn | smmm | o ooon | owEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 2.96 1.6 - 2.01
2 F| 0.94 0.9 — 0. 81
3 &l 0.69 0.9 — 0.56
7% igi4f T v o RAK 18 2.13 1.5 - 1.31
2 & 0.46 0.9 — 0.33
3E| 0.14 0.9 — 0.01
H#HIERT R4 g HRET B AL
ZHE £ 1RXE BMESEH
s | wmax | s | REme | mEmEw | mRmR | REe
spmEs s | EE SRBEER ERE R
% % % %
6 %8 igi4A T v RAK 18 12. 26 2.0 - 10. 86
2 F| 10. 42 1.6 — 9.51
3E| 9.31 1.5 — 8.49
7% igi4f T v RAK 18 8. 46 2.3 - 6.73
2 Z| 5.65 1.6 — 4.74
3E| 3.76 1.2 — 3.25
ERE AT IR 4 Hh 33 #iEt B hig
ZHE £ 1RXE =M s
mxn | smmm | o ooon | owaEme | aemEw | m@ER | ERG
spmEEs s | EE BEWEE R R
% % % %
6 %8 igi4A T v RAK 18 2.08 1.2 - 1.57
2 Z| 0. 62 1.0 — 0.40
3 &l 0.03 0.9 — 0.01
7% igif T v RAK 18 1.83 1.3 - 1.20
2 Z| 0.35 1.0 — 0.13
3E| 0.03 0.9 — 0.01




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHNR—Eh
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jéiﬁﬁﬂfﬁgﬁgﬂﬁ 7T=LE$ %LE*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3. 46 1.3 - 2.83
2% 2.15 1.2 - 1. 64
3% 0.78 1.0 - 0.56
74 A Ty AARX 1 &) 2.19 1.2 - 1.68
2% 1.15 1.1 - 0.82
3 & 0.24 1.0 - 0.02
B R 5 et B
BHR ERLS) ELILY ki
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3.98 1.6 - 3.03
2% 2.23 1.2 - 1.72
3% 0.88 1.0 - 0. 66
74 A Ty AARX 1 &) 3. 21 1.5 - 2.39
2% 1.65 1.2 - 1.14
3| 0.23 1.0 - 0.01
B R ) et B b
BHR ERLS) BHNRFED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 8.47 1.6 - 1.52
2% 6.83 1.5 - 6. 01
3 5.38 1.3 - 4.75
74 A Ty AARX 1 &) 6.67 1.6 - 5.72
2% 4.84 1.3 - 4.2
3| 3.52 1.2 - 3.01




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHRE D
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 3.14 1.5 - 2.32
2% 1.49 1.1 - 1.1
3% 0.69 0.9 - 0.56
74 A Ty AARX 1 &) 2.47 1.5 - 1.65
2% 0.69 1.1 - 0.38
3 & 0.14 0.9 - 0.01
B R 5 et B e
BHR ERLS) ARSI
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3. 21 1.6 - 2.29
2% 1.60 0 - 1.38
3% 1.03 .9 - 0.90
74 A Ty AARX 1 &) 2.35 1.7 - 1.30
2% 0.71 .0 - 0.49
3| 0.03 0.9 - 0.01
B R ) L)
BHR ERLS) BAREED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 3.40 1.2 - 2.89
2 2.34 1.1 - 2.01
3% 1.58 1.1 - 1.25
74 A Ty AARX 1 &) 3.35 1.2 - 2.84
2% 2.32 1.1 - 1.92
3| 1.31 1.1 - 0.98




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHRERD
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 2.86 1.2 - 2.35
2% 1. 54 1.1 - 1.16
3% 0.51 1.0 - 0.29
74 A Ty AARX 1 &) 2.99 1.3 - 2.36
2% 1.59 1.2 - 1.1
3| 0.31 0.9 - 0.18
B R 5 et B
BHR ERLS) AR
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 2.68 1.5 - 1.86
2% 0.99 1.1 - 0. 66
3 0.27 0.9 - 0.14
74 A Ty AARX 1 &) 3.05 1.5 - 2.23
2% 1.25 1.1 - 0.85
3| 0.26 0.9 - 0.13
B R ) et B b
BHR ERLS) EHNREED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 4.20 1.6 - 3.25
2% 2. 61 1.1 - 2.30
3 2.14 1.0 - 1.92
74 A Ty AARX 1 &) 2.63 1.5 - 1.81
2% 1.10 1.0 - 0.88
3| 0.80 0.9 - 0. 67




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ZHE £ 1RXE BME LT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 3.10 1.3 - 2.47
2 F| 1.56 1.3 — 0.96
3 &l 0.40 1.0 — 0.18
7% igi4f T v o RAK 18 3.32 1.6 - 2.37
2 & 1.41 1.2 — 0.90
3E| 0.33 1.0 — 0.1
H#HIERT R4 g HRET B AL
ZHE £ 1RXE BHEAEESD
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
6 %8 igi4A T v RAK 18 4.35 1.3 - 3.72
2 Z| 3.00 1.3 — 2.317
3 &l 1.45 1.1 — 1.05
7% igif T v RAK 18 4.17 1.4 - 3.4
2 & 2.64 1.3 — 2.01
3E| 1.16 1.1 — 0.76
ERE AT IR 4 Hh 33 #iEt B hig
ZHE £ 1RXE BMEHEET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
6 %8 igi4A T v RAK 18 2.45 1.2 - 1.94
2 Z| 1. 47 1.0 — 1.25
3 &l 0.93 1.0 — 0.7
7% igif T v RAK 18 2.44 1.1 - 2. 11
2 Z| 1.83 1.0 — 1. 61
3E| 1.37 1.0 — 1.15




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ZHE £ 1RXE BRBANUT
axn | smmm | o ooon | owEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 4.96 1.5 - 4.14
2 F| 3.44 1.2 — 2.95
3 &l 2.45 1.1 — 2.12
7% igi4f T v o RAK 18 4. 34 1.5 - 3.52
2 & 2.88 1.2 — 2.39
3E| 1.80 1.1 — 1. 47
H#HIERT R4 g HRET B AL
ZHE £ 1RXE BMEEET
mxn | smmm | o ooon | owaEme | aemEw | m@Es | ERG
spmEs s | EE SRBEER ERE R
% % % %
6 %8 igi4A T v RAK 18 7.03 1.5 - 6.18
2 Z| 5.67 1.2 — 5.16
3 &l 4.65 1.2 — 4.14
7% igif T v RAK 18 514 1.7 - 4.08
2 & 3.26 1.1 — 2.86
3E| 2. 46 1.1 — 2.13
ERE AT IR 4 Hh 33 #iEt B hig
ZHE £ 1RXE BHEIRAT
s | mmax | oenn | REme | mEmEw | mRmR | REe
spmEEs s | EE BEWEE R R
% % % %
6 %8 igi4A T v RAK 18 5.00 1.5 - 4.18
2 Z| 3.41 1.3 — 2.78
3 &l 2.12 1.1 — 1.79
7% igif T v RAK 18 4.55 1.6 - 3.60
2 Z| 2.60 1.2 — 2.09
3E| 1.38 1.1 — 1.05




H£FBHIDESE

=
H#HIERT R 4 Hhig HRET B AL
ZHE %1 Xig BB/
L =2y A
O T e - - - U
;jéiﬁﬁﬂfﬁgﬁgﬂﬁ 7T=LE$ %LE*& = $ §EE$ §EE$
% % % %
6 %8 igi4A T v RAK 12| 3.78 1.8 - 2.62
2| 1.44 1.2 — 0.95
3 &l 0. 61 0.9 — 0.48
7% igi4f T v o RAK 12| 2.97 1.7 - 1.91
2 & 0. 64 1.1 — 0.33
3| 0.03 0.9 — 0.01
H#HIERT R4 Hhig HRET B AL
ZHE %1 Xig BMERRT
L =2y A
AR | mmmm | s | sAme | memEs | mRRs | BEH
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6 %8 igi4A T v RAK 12| 5.97 1.8 - 4.80
2| 4.05 1.2 — 3.54
3| 2.79 1.1 — 2.39
7% igif T v RAK 12| 4.36 1.3 - 3.73
2% 3.09 1.1 — 2.69
3E| 2.17 1.1 — 1.84
ERE AT IR 4 Hh iz #iEt B hig
ZHE %1 Xig BB HE T
L =2y A
O T R = - I - O
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
6 %8 igi4A T v RAK 12| 2.82 1.3 - 2. 21
2| 1.70 1.1 — 1.37
3| 0.77 1.0 — 0.55
7% igif T v RAK 12| 2.19 1.3 - 1.58
2% 1.09 1.1 — 0.76
3| 0.18 0.9 — 0.05




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ZHE £ 1RXE BMERET
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 8.37 1.6 - 7.42
2 F| 6.97 1.5 — 6.15
3 &l 5. 51 1.3 — 4.88
7% igi4f T v o RAK 18 6.84 1.6 - 5.89
2 & 5.28 1.5 — 4. 46
3E| 3.53 1.3 — 2.90
H#HIERT R4 g HRET B AL
ZHE £ 1RXE BB XFFH
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
6 %8 igi4A T v RAK 18 11.59 2.4 - 9.76
2 F| 9.52 1.8 — 8.35
3E| 1.67 1.6 — 6.72
7% igi4f T v RAK 18 8. 46 1.9 - 7.18
2 Z| 6.54 1.5 — 5.72
3E| 4.98 1.3 — 4.35
ERE AT IR 4 Hh 33 #iEt B hig
ZHE £ 1RXE BMEMZH
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
6 %8 igi4A T v RAK 18 8.30 1.8 - 7.13
2 Z| 6. 50 1.5 — 5.68
3 &l 5.04 1.2 — 4.53
7% igif T v RAK 18 6.77 1.8 - 5.60
2 Z| 4.73 1.5 — 3.91
3E| 3.05 1.2 — 2.54




H£FBHIDESE

X2
BERRE s HELEL
EHE F1K9 EHRALE
NN S SLRIERS | same | memax | BEEA iz
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé ?Ti#%$ ?&é*&%$ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 18| 3.30 1.3 - 2.67
2% 1.99 1.1 - 1.59
3% 0.85 1.0 - 0.63
74 A Ty AARX 18| 3.45 1.6 - 2.50
2% 1.63 1.1 - 1.30
3| 0.77 1.0 - 0.55
BERRE g CHELEL
EHE F1K9 BHRERED
NN S SLRIERS | same | memax | BREA iz
wxmrmns | BEE | megEx | A= £t
% % % %
6% A Ty AARX 18| 4.60 2.0 - 3.20
2% 2.36 1.2 - 1.85
3% 1.217 1.1 - 0.94
74 A Ty AARX 18| 3.25 1.5 - 2.43
2% 1. 64 1.1 - 1.24
3| 0. 61 1.1 - 0.28
BERRE g RLIT
EHE F1K9 EHRERD
NN S SLRIERS | same | memax | BREA iz
wxmrmns | BEE | megEx | A= Bt
% % % %
64 A Ty AARX 18| 3. 06 1.5 - 2.24
2% 1.44 1.1 - 1.1
3% 0.52 1.0 - 0.30
74 A Ty AARX 18| 3.40 1.5 - 2.58
2% 1.51 1.1 - 1.1
3| 0. 42 1.0 - 0.20




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHNREAT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 3.98 1.3 - 3.35
2% 2.71 1.1 - 2.31
3% 1.88 1.0 - 1. 66
74 A Ty AARX 1 &) 3.42 1.3 - 2.79
2% 2.14 1.1 - 1.74
3 & 1.16 1.0 - 0.94
B R 5 et B
BHR ERLS) EHREHD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 1.82 1.8 - 6. 65
2% 5.84 1.3 - 5.21
3 4.61 1.2 - 4.10
74 A Ty AARX 1 &) 1.00 2.3 - 5.28
2 4.40 1.3 - 3.71
3| 2.71 1.1 - 2.31
B R ) L)
BHR ERLS) BHR EED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 4.24 1.9 - 2.97
2% 1.81 1.1 - 1.41
3% 1.01 1.0 - 0.79
74 A Ty AARX 1 &) 2.90 1.5 - 2.05
2% 0.89 1.1 - 0.49
3| 0.20 0.9 - 0.07




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHNRERD
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 4.08 1.3 - 3.51
2% 3.22 1.1 - 2.89
3 2.69 1.0 - 2. 47
74 A Ty AARX 1 &) 2.03 1.1 - 1.67
2 1.47 1.0 - 1.25
3| 1.00 0.9 - 0.87
B R 5 et B
BHR ERLS) BHNREAD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 2.69 1.3 - 2.06
2% 1.75 1.0 - 1.53
3% 1.28 1.0 - 1.06
74 A Ty AARX 1 &) 3.23 1.5 - 2.41
2% 1.65 1.1 - 1.32
3 & 1.14 0.9 - 1.01
B R ) Heat B b
BHR ERLS) BHRAAD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 3.89 1.8 - 2.72
2% 1.77 1.2 - 1.26
3% 0.85 1.0 - 0.63
74 A Ty AARX 1 &) 2.85 1.5 - 2.03
2% 1.21 1.1 - 0.81
3 & 0. 36 1.0 - 0.14




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BARILAEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;jéiﬁﬁﬂfﬁgﬁgﬂﬁ 7T=LE$ %LE*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3.62 1.5 - 2.71
2% 1.87 1.1 - 1.47
3% 0.87 1.0 - 0.65
74 A Ty AARX 1 &) 2.85 1.5 - 2.00
2% 1.07 1.1 - 0.74
3| 0.33 1.0 - 0.1
B R 5 et B
BHR ERLS) BHRHED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3.82 1.8 - 2.65
2% 1.46 1.1 - 1.06
3 0.47 1.0 - 0.25
74 A Ty AARX 1 &) 3.65 1.5 - 2.83
2% 1.86 1.2 - 1.35
3| 0.53 1.0 - 0.31
B R ) Heat B e
BHR ERLS) BHMRH S L
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 3.53 1.3 - 2.93
2% 2.42 1.1 - 2.02
3% 1.51 1.0 - 1.29
74 A Ty AARX 1 &) 2.94 1.5 - 2.12
2% 1.32 1.1 - 0.92
3 & 0.14 0.9 - 0.01




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHNRHED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 3.76 1.8 - 2.59
2% 1.70 1.1 - 1.37
3% 0.88 1.0 - 0. 66
74 A Ty AARX 1 &) 2.89 1.6 - 1.94
2% 0.95 1.0 - 0.73
3| 0.29 0.9 - 0.16
B R 5 et B
BHR ERLS) BNREATH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3.87 1.8 - 2.70
2% 1.82 1.2 - 1.31
3% 0.52 1.0 - 0.30
74 A Ty AARX 1 &) 2.74 1.6 - 1.79
2% 1.02 1.1 - 0.69
3| 0.26 0.9 - 0.13
B R ) L L)
BHR ERLS) B R E A R
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 5.85 1.8 - 4.68
2% 3.58 1.3 - 2.95
3 2.00 1.2 - 1.49
74 A Ty AARX 1 &) 4.37 1.6 - 3.42
2 2.42 1.1 - 2.02
3| 1.26 1.1 - 0.86




H£FBHIDESE

x=
B R 5 et B
BHR ERLS) BHREE B SIS LA
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 4.57 1.8 - 3.40
2% 2.20 1.2 - 1.69
3 1.06 1.0 - 0.84
74 A Ty AARX 1 &) 4.12 1.9 - 2.84
2% 1.78 1.2 - 1.217
3 & 0.55 0.9 - 0. 42
B R 5 et B e
BHR ERLS) BHRFRBA OE]
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
;:t_;ﬁlzﬂggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 9.17 2.3 - 1.44
2% 6. 86 1.8 - 5.69
3 4.98 1.3 - 4.35
74 A Ty AARX 1 &) 6.87 1.3 - 6.24
2% 5.80 1.3 - 5.17
3 & 4.51 1.2 - 4.00
B R ) L L)
BHR ERLS) LG
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬂggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 4.10 1.3 - 3.47
2% 2.65 1.1 - 2.25
3% 1.75 1.0 - 1.53
74 A Ty AARX 1 &) 3.63 1.3 - 3.00
2% 2.13 1.1 - 1.73
3 & 1.16 1.0 - 0.94




H£FBHIDESE

x=
B R 5 Het B e
BHR ERLS) B R E A AR
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 3.67 1.6 - 2.72
2% 1.85 1.2 - 1.34
3% 0.79 1.0 - 0.57
74 A Ty AARX 1 &) 2.42 1.3 - 1.79
2% 1.03 1.1 - 0.63
3| 0.20 0.9 - 0.07
B R 5 et B e
BHR ERLS) B AV AV A LT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
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